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1. Enough water 1s added to 0.35 g of benzoic acid (K, = 6.5 x 107, molar mass = 122 g/mol) to make 1000 mL of
solution. What is the pH of the solution? You must write out the correct chemical equation to receive credit.

HB= + M0 = Ho™ +B82" 0. 35402 pal = 2,97 %06 M
Lagivw?  wA c 0 NS e
c, - " T35 worked @5 Guads &
E. 251X/ = X x oo y2+ suw x=k87pie =0

X2 , X = 4.0px/o” v

e a——

K = 2,87 PITSEED § S H= 3' 39 “»
o-* § = ~x e dref ? _@M S
C.SXD T A g7 w03 70 e >y
X = Zﬂafj:‘z’,_&l o7 @’ g

2. A 50.0 mL volume of 0.15 M HC2H30, is reacted with 22.0 mL of 0.10 M NaOH. What is the pH of the resulting
solution? (The K, of acetic acid is 1.85 x 10). You must write out the correct chemical equations to receive credit.
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3. A 50.0 mL volume of 0.15 M HC2H30, is reacted with 50.0 mL of 0.15 M NaOH. What is the pH of the resulting
solution? (The K, of acetic acid is 1.85 x 10°) You must write out the correct chemical equations to receive credit.
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